LIM=Y | NS F0| MHEY FH N NKFHIN] MY

. 4)1=sd)|=d - | H%3% -
SNt | £5012 (ﬁlgxiﬂﬁl_::z_) 97 oy e-ljmfil?fi sgzgn)tzéggg?:g?(r
4 (eRE=ot )| 2 | 0| " 031)229-5834
TS HELXL " (5D 2 | HE S " 031)229-6181
" " n Mojd " 031)229-6195

AE0H/0rD

25

20 A

MO0k

16L: 8D 12L: 12D 8L: 16D
ZZ AL Light, D;Dark)

- 145 -




A2kr0h/0r21)
- NN
=R

[==
=]
1

2l
1

32
30 A
27
23
I 15
0 - T T T
18 20 23 25 30
Xal=2%=("c)

235le A=37|(cm*SD)

H o] F7 (%) o = H] oL
1. ZaE(100%) 0 — -
2. AR EL(100%) 0 - —
3. A FH90%)+559H(10%) 30 1.7+0.2 1.8+0.1
4, FEFH95%)+F5IdPdE 2 (5%) 50 1.8+£0.1  1.9%0.1
5. LEEY(90%)+A A A B (10%) 10 1.640.1 1.7+0.1 2009
6. PEET(70%)+ A ELF(30%) 50 1.7£0.1 1.8%0.1
7. HEENG0R)+AA BEF(GB0%) 70 1.7+40.1 1.9+0.1
8. LAFTH60%)+21A]

80 1.7£0.2 1.9%0.2
WH(30%) +7-=99(10%)

9. B FY(75%)+F-AE(25%) 66.7 2.2+0.1 2.4%+0.4
10. FEEN(50%)+ A E(50%) 73.3  2.240.1  2.840.1 2010
11. HEEN(25%)+F-AE(75%) 86.7 2.240.1 2.8+0.2
12. ¥4 E(100%) 73.3  2.240.1  2.940.2
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